log mean error

—-7.5

—10.0

—12.5

—-15.0

—17.5

0.0

2.5

5.0
time t

7.5

10.0

standard deviation o

0.09 |-

0.08 |-

0.07 |-

0.06 |-

0.05 |-

buffer =

200

=== sampling
= h = (0.02
== h = 0.01
== h = 0.005
= 0.0025
| buffer ful

0.04 Y

2.5

5.0
time t

7.5 10.0

standard deviation o

0.09 |-

0.08 |-

0.07 |-

0.06 |-

0.05 |-

h = 0.0025

=== sampling
= buffer = 200
= buffer = 400
m— buffer = 600
m— buffer = 800
| buffer ful

»
" AR ssssEssEEsEEEEEEEEm

0.04 Y

2.5 5.0 75 10.0
time t



